FgArea: [0 ]
NC11 P3-6
2025-06-01 (Day 64)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-6_0
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P3-6

Bfig) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:40 273 150.0 25. 83 BH| FnHA@06:40 K4ENF2F (KRAfEREE)
07:15 273 150.0 25. 83 FA| FhHR@07:15 KREIEHF (RAKLESR)
08:25 273 150.0 25. 83 FH| FnHe08:25 KHIEF (KRFEHERES)
09:15 273 150.0 25. 83 FR| FHA@09:15 KRENFZF (KRFAAIRES)
09:55 273 150. 0 25. 83 FA[ FHR@09:55 RENFEFF (KRR
10:30 273 150.0 25. 83 FA| FHA@10:30 KRENFEF (ARFAERHS)
11:05 273 150.0 25. 83 FH| FnHA@11:05 KRFIEF CRAERS)
11:35 273 150.0 25. 83 FH| FiHA@11:35 KREFEF (RAFEHE)
12:05 273 150.0 25. 83 FA| hHR@12:05 RFMIEHF (RALZESR)
12:35 273 150.0 25. 83 FH| FnHf@12:35 KRFEF CRAERS)
13:05 273 150.0 25. 83 FA| FnHA@13:05 AFFEF (KAFERKSE)
13:35 273 150.0 25.83 FA| hHR@13:35 KRHMIZHF (RALER)
14:05 273 150. 0 25. 83 M| FiHBe14:05 KEEF (KAERE)
14:35 273 150.0 25. 83 F|  FHA@14:35 REIZF (RAERES)
15:10 273 150.0 25. 83 FA| FhHR@15:10 RHMIEHF (RAKZESR)
15:50 273 150.0 25. 83 FA| FhHA@15:50 KRHMIEHF CRALESR)
16:35 273 150. 0 25. 83 M| FiHA@16:35 KREEF (KAFERHE)
17:30 273 150.0 25. 83 FA| FhHR@17:30 RHMIEHF (CRAKLESR)
2it] 4914.0 (18X%) 2700. 0 323 KEC: 2080.0, PH: 5.6

[E;&EC 6037.0 K5, EiNF{KECAE&M%ER
#[EKECZE (2007.0 vs 6037.0) 15
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P3-6

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:55 2178 150.0 25.83 PH| 1{ERi%e05:55 B (KRAFEREE)
06:55 278 150. 0 25. 83 Pl 1BRi%@06:55 Bz (REAERSE)
07:55 278 150.0 25. 83 BH| {Ri%@07:55 Bz (RAEEE)
08:55 278 150. 0 25. 83 FA| 1BRi%@08:55 B3h (FKA{ERESE)
09:55 278 150.0 25. 83 BH| 1{Ri%@09:55 H#Ei (RAEEHKE)
10:55 278 150.0 25. 83 FE| 1RRi&@10:55 B (RS
11:55 278 150.0 25. 83 FA| {Ri%e@11:55 Bzl (GRAEEE)
13:30 278 150.0 25.83 | KM| {Ri%e13:30 Bz (REAEZZE)
15:05 278 150.0 25.83 |/hfE| {Ri&e15:05 Bz (REEZEBE)
21t 2502.0 (97%) 1350.0 32803 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (369:174.0), set to 369 ml.
[E]/&EC 6020.0 K7, EiUAKECHAIMIAERR
PBE[EIRECE (2087. 0 vs 6020.0) i 5
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P3-6

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:05 278 150.0 25. 83 FA| 1BRi&@06:05 B3 (KFAFEREE)
06:45 278 150.0 25. 83 FA| 1B2i%@06:45 Bzh (KBRS
07:25 278 150.0 25. 83 FE| 1BRi&@07:25 Bzh (RAEREEE)
08:05 278 150.0 25. 83 FA| 1BRi%@08:05 B3h (FKA{EREEE)
09:10 278 150.0 25. 83 FA| 1B2i%@09:10 B3zh (kAB{ERESE)
10:15 278 150. 0 25. 83 BA| {Ri%@10:15 Bzl (GRAEEE)
11:05 278 150.0 25. 83 FA| 1BRi%@11:05 B3h (KRAHEESE)
11:45 278 150. 0 25. 83 FR| 1BRi%@11:45 Bzh (RkAEREE)
12:20 278 150.0 25. 83 FA| 1Bi%@12:20 B3h (kAHERE)
12:55 278 150.0 25. 83 FA| 1BRi&@12:55 B3h (KRAHERSE)
13:30 278 150. 0 25. 83 FA| 1B2i%@13:30 Bzh (kAEREE)
14:25 278 150.0 25. 83 FA| 1BRi%@14:25 B3h (RABERSE)
15:30 278 150. 0 25. 83 FA| 1BRi%@15:30 B3h (KRAHERSE)
16:45 278 150. 0 25. 83 FA| 1BRi%@16:45 B3 (kAIEREE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (396:156.0), set to 396 ml.
[/KEC 6470.0 K&, EILMIRECAZMITER
BEEIRECE (2220. 0 vs 6470.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=62 (2025-05-30)

180 Fmmmm——————mm—m——m——mm—m——mmm——m——mmm—m—mmmm—m——m——mm—m—mmm————mm——————m———mm—m—m = ] L 3000
VI, VB4RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2200 947 69
50 - 1000
106 Warning: lcol [FVI',| "FVO’'] missing 68
0 + - -0
200_( ¥ 30
150 - - 28
-
100 - L 26 =
50 A - 24
1.0 22
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit: @64 01:49: ET=2689 Fg=3300.0 Ro=643.0 ?4000
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- 2000
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:25 273 150. 0 25. 83 El 1BRi&e06:25 Bz (RFA{EREIEE
07:00 273 150.0 25. 83 F[  BRi%e07:00 Ba1 (RAERSE)
07:35 273 150.0 25. 83 = {RRi8007:35 B (REAKEE)
08:30 273 150. 0 25. 83 E  BRi%e08:30 Ba1 (RAERE)
09:20 273 150.0 25.83 (Z=| {Ri%@09:20 Bz (FAERHSE)
10:00 273 150.0 25.83 (£ =| 1Ri%@10:00 Bz (RAEAERSE)
10:40 273 150. 0 25.83 |Z=| 1Ri&e10:40 Bz (GRAEREE)
11:15 273 150. 0 25.83 (£ =| 1Rige11:15 Bz (GREAERSE)
11:55 273 150.0 25.83 (£ =| 1Rige11:55 Bz (REAERSE)
12:30 273 150.0 25.83 (Z=| {Ri%e12:30 B3 (REAEHSE)
13:05 273 150.0 25. 83 =l {Rig@13:05 B3 (REAERSE)
13:35 273 150.0 25. 83 = {RRiB013:35 B (RFAKESE)
14:05 273 150. 0 25. 83 E BRige14:05 Bz (GRAERESE)
14:35 273 150.0 25. 83 5| {Ri%e14:35 B3 (RAERSE)
15:10 273 150.0 25. 83 =l RRiBe15:10 Bz (RFAKESE)
15:45 273 150.0 25. 83 = RRiBe15:45 Bz (REAKEE)
16:35 273 150.0 25.83 |Z=| {Ri&e16:35 Bz (REEZEHE)
21t 4641.0 (17& 2550. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (364:174.0), set to 364 ml.
[2]/REC 6620.0 K&, EiIUAKECH A IMIAER
BE[EIRECE (2323. 0 vs 6620.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VBPERV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2250 2200 20961
100 4 006 L 2000
50 - 1000
20 Warning: lcol [FVI',| "FVO’'] missing 106
0 + -0
200 { # 30
150 - - 28
-
100 A L 26 =
50 - 24
1.0 22
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
BylInit]@D64 01:50: ET=2333 Fg=3000.0 Ro=597.0 4000
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- 2000
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01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 2000
5 | i | g | Bg | g | G| G| BE | G | P i 5 | BB | BB | B 5 5 5 i 5 5 5 B 5
1
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cumET (ml/plant)
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P3-6

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:35 278 150. 0 25. 83 E 1BRi%e06:35 Bal (RAEREE)
07:10 278 150. 0 25. 83 E|  {Rige07:10 Bah (RE{EREE)
07:45 278 150.0 25. 83 = {RRiB007:45 B (RFAKEE)
08:35 278 150. 0 25. 83 E  1BRi&e08:35 Bzl (RAERE)
09:20 278 150.0 25. 83 5| {Ri%@09:20 B3 (FAERSE)
10:00 278 150.0 25. 83 =l RRi80@10:00 Bz (RFAKEE)
10:35 278 150.0 25. 83 = {RRiB010:35 Bz (REAEEE)
11:10 278 150. 0 25. 83 =l Rig011:10 B3 (GRAEESE)
11:45 278 150.0 25. 83 = {Rige11:45 B3 (RAERSE)
12:20 278 150.0 25. 83 Sl {Rige12:20 B3 (RAERSE)
12:50 278 150. 0 25. 83 E| {Rig012:50 Bzh (RE{ERSE)
13:20 278 150.0 25. 83 F BRige13:20 Bz CGRAERE)
13:50 278 150.0 25. 83 S| {Rig@13:50 B3 (RAERSE)
14:20 278 150. 0 25. 83 E BRige14:20 Bz (GRAERESE)
14:50 278 150.0 25. 83 F BRige14:50 Bz CGRAERSE)
15:25 278 150.0 25. 83 = {Rige15:25 B3 (RAERSE)
16:00 278 150. 0 25. 83 El BRige16:00 Bzl (RAERERE)
16:40 278 150. 0 25. 83 =l RiB016:40 Bah (RAEESE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (372:162.0), set to 372 ml.
[ /&EC 6022.0 K7, EiUAKECHAIMIAER
13 [E]%ECZ (2400. 0 vs 6022.0) 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=60 (2025-05-28)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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